1) Fill out Hue Follewmod table...

Doweun Ramqe
%in % & -1, 0]
Coy X |- (-1, 1]
tam e | [ except |2
x=(§+n)
whevt pne 2

d) Skeddn a %mfh&/f Hae above fumctions
beAween =3r " amdl 3.

3) Fov eada function, find a domain (Faat
mcludes x=0) whert +Hu funchion has an

mversc.
Must pick a domaun whert e ]ﬁ.,wnohaw %

one—-to-one .
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Tn ordev o define ¥re inverse , we had +o make
0 hawe of a one-to-one domain.

Thae in a Conventionn of what 1o ]mda...

Demgun Kamq,e

SN [-1,1] [4, &
Cosx [-1,1] [o,x]

tan ! x (—00)0'0) ['f,g ]




Ex(1). C@met& cost ().

Reframe e gquestion: f—m what ang\e O sudn
Hat 0B¢lom] v cosO=1.

s

Hais emsures
Hatwe e'mlxﬂ. one

O=0  (dneck: os(0)=1 )



1) 5’W\-|(‘1)
Wamt He '%,% such Huat sin®=-1

_-x 2n
& 2 NOT =°

5) tui'({3)
Vit D¢ (F,5) suhh Hak tand= 3
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CHALLENGE: c,m(ws"(%))
fl’mm e P\ckuwe cose‘-‘a

5 cos™ (2 z)=0
ea [ COﬁ-‘ —)) gin O

x>+ a’=5 E
. ’



